
 

cos 2𝛼 = 1 − 2𝑠𝑖𝑛2𝛼    =>        𝑠𝑖𝑛2𝛼 =
1 − cos 2𝛼

2
 

𝐜𝐨𝐬 𝒙 = 𝟏 − 
𝟏

𝟐!
∙ 𝒙𝟐  +  

𝟏

𝟒!
∙ 𝒙𝟒  −  

𝟏

𝟔!
∙ 𝒙𝟔  +  … + 

(−𝟏)𝒏

(𝟐𝒏)!
∙ 𝒙𝟐𝒏 = ∑

(−𝟏)𝒌

(𝟐𝒌)!
∙ 𝒙𝟐𝒌

∞

𝒌=𝟎
 

𝐜𝐨𝐬(𝟐𝒙) = 𝟏 − 
𝟏

𝟐!
∙ (𝟐𝒙)𝟐  +  

𝟏

𝟒!
∙ (𝟐𝒙)𝟒  − 

𝟏

𝟔!
∙ (𝟐𝒙)𝟔  +  … +  

(−𝟏)𝒏

(𝟐𝒏)!
∙ (𝟐𝒙)𝟐𝒏 = ∑

(−𝟏)𝒌

(𝟐𝒌)!
∙ 𝟐𝟐𝒌

∞

𝒌=𝟎
∙ 𝒙𝟐𝒌 

1 − cos 2𝑥 =  
1

2!
∙ (2𝑥)2 −  

1

4!
∙ (2𝑥)4 +  

1

6!
∙ (2𝑥)6 −

1

8!
∙ (2𝑥)8 +  … +  

(−1)𝑛

[2(𝑛 + 1)]!
∙ (2𝑥)2(𝑛+1) = ∑

(−1)𝑘

(2𝑛 + 2)!
∙ 22𝑘+2

∞

𝑘=0
∙ 𝑥2𝑘+2 

1 − cos 2𝑥

2
  =   ∑

(−𝟏)𝒌

(𝟐𝒏 + 𝟐)!
∙ 𝟐𝟐𝒌+𝟏

∞

𝒌=𝟎
∙ 𝒙𝟐𝒌+𝟐   =   ∑ (−𝟏)𝒌

𝟐𝟐𝒌+𝟏

(𝟐𝒏 + 𝟐)!

∞

𝒌=𝟎
∙ 𝒙𝟐𝒌+𝟐 

𝑠𝑖𝑛2𝑥  =   
1 − cos 2𝑥

2
  =    ∑ (−𝟏)𝒌

𝟐𝟐𝒌+𝟏

(𝟐𝒏 + 𝟐)!

∞

𝒌=𝟎
∙ 𝒙𝟐𝒌+𝟐 

 

 

 

 

 

 

 


